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Note : Answer the questions as per the instructions 

given for each Section. 

Section—A 

(Long Answer Type Questions) 

Note : Answer any two questions from this Section. 

Each question carries 20 marks. 

1. Describe the different types of 'Cropping 

Pattern' prevalent in Indian agriculture. What 

are the factors that influence the same ? 

P. T. O. 
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2. What was the major purpose of enacting the 

`Model Agricultural Produce Marketing Act, 

(APMA) 2003' ? What major amendments over 

the existing APMA are introduced in this ? 

3. What is meant by water resource 

management ? What are the major issues in the 

water resource management of the country ? 

4. What are the basic objectives of NREGA-2005 ? 

In what way does the NREGA (now MNREGA) 

ensure that the interests of labourers are 

protected in terms of work allotment and 

payment ? 

Section—B 

(Medium Answer Type Questions) 

Note : Answer any five questions from this Section. 

Each question carries 12 marks. 

5. Bring out the distribution of gains of Green 

Revolution in terms of employment generation, 

economic classes and farm sizes. 
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6. What is an agro-industry ? State the distinctive 

features of agro-based industries in India. 

7. Discuss the main objectives of agricultural price 

policy in India. What factors have contributed 

to the consistent rise in procurement prices of 

foodgrains in India ? 

8. What are the benefits of biotech research in 

agriculture ? Discuss the measures adopted by 

the government to promote the application of 

biotech in India agriculture. 

9. Explain the changing linkages between 

agriculture and industry over time in India. 

10. What are the major components of land 

reforms 	Could the consolidation of 

agricultural holdings improve productivity ? 

11. What are the objectives of social forestry ? 

Mention the different types of social forestry. 

12. Describe the main features of the rural 

artisans. What are their main problems ? 

P. t O. 
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13. Distinguish between any two of the following : 

(a) Marketed surplus and Marketable surplus. 

(b) Ownership holdings and Operational 

holdings. 

(c) Labour productivity and Total factor 

productivity. 

(d) Absolute poverty and Relative poverty. 
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